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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-  Please leave ---------- directions for the housekeeper, so she knows what needs to be done.
1) authentic 2) restless 3) cursory 4) explicit

2-  The islands ---------- their name from the sacred images found on them by the early
European navigators.
1) derive 2) illustrate 3) infer 4) grasp

3-  People love the Presidio because it is in close ---------- to many area attractions, including
the famous aquarium, the SFB Morse Botanical Reserve and the Spanish Bay Resort
Golf Course.
1) relevance 2) proximity 3) accord 4) observation

4-  This system, which for many years subsequently was regarded as authoritative, has been
subjected to ---------- criticism by later economists, and it is perhaps not too much to say
that it now possesses mainly a historical interest.
1) transient 2) feeble 3) vigorous 4) shaky

5-  Although Norman could ---------- his sister’s story about her innocence to absolve her, he
refused to do so because he was angry at her.
1) corroborate 2) testity 3) tulfill 4) retain

6-  When he came in to tea, silent, ---------- , and with tear-stained face, everybody pretended
not to notice anything.
1) facetious 2) showy 3) mercurial 4) morose

7-  Since color is absorbed as it travels through water, the deeper you are, the more likely
you will notice a ---------- in the clarity of reds, oranges and yellows.
1) intensification 2) deception 3) reduction 4) competition

8-  As the students argued, the teacher tried to ---------- them into silence with the threat of a
detention.
1) impose 2) condemn 3) condense 4) coerce

9-  Teachers who consider cartoons and comic books ---------- to students’ literacy skills
often use class time to deride these media.
1) pertinent 2) harmful 3) conducive 4) indispensable

10- Salt is valued not only because of its ---------- as a condiment and preservative, but also

because they are essential to the health of humans and animals.
1) variances 2) properties 3) predictors 4) temptations
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Being funny has no place in the workplace and can easily wreak havoc (11) ----------
an otherwise blossoming career. Of course, laughter is necessary in life. But if you
crack jokes (12) ---------- snide remarks at work, you will eventually not be taken
(13) ~——mmmmmm- . You will be seen as someone who wastes time (14) ---------- could better
be spent discussing a project or an issue. Additionally, many corporate-minded
individuals do not have the time to analyze comments with hidden meanings-they will
take what you say (15) ---------- and as an accurate representation of your
professionalism in the workplace.

11- 1)on 2)in 3) at 4) for
12- 1) which they make 2) to be made 3) and make 4) then make
13- 1) by some others serious 2) serious by others
3) being seriously by others 4) seriously by others
14- 1) and 2) when 3) that 4) that it
15- 1) is absolute 2) as absolute 3) be absolute 4) that is absolute

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Brand loyalty is a psychological bond that, once established, is difficult to reverse—
and it is more complicated than simply buying the same product time and again. True
brand loyalty differs from what some marketing researchers refer to as spurious loyalty
- a passive condition in which people consistently buy a brand for reasons such as
habit, convenience, price, and availability but not the result of any true loyalty or
passion for the actual merchandise. It is usually not difficult to convince consumers
with spurious loyalty to try another brand.

A product must have acceptable quality to establish true brand loyalty, but even top
quality is not enough on its own to forge a strong connection with a consumer.
Customers relate to products for emotional and symbolic reasons. People identify with
the image associated with a brand, for example, as a result of a celebrity endorsement
or because of the social values of the company. In addition, people consistently
purchase pricey items because of the perceived status those items confer.

Brand-loyal consumers are unlikely to defect to the competition because loyal
consumers develop a preference for a product, ignore negative associations, and
believe it outperforms others, even when there is little difference among brands.

Consumers become less selective about brands in economic downturns. During the
recession of the early twenty-first century, more consumers in Europe and North
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America turned to brands that cost less instead of the ones they preferred, and more
retailers packaged goods under their own private labels.

The writer of this passage wants to ---------- ’

1) describe a customer's positive feeling toward a special brand

2) show the most customers have fleeting interests in a particular brand
3) draw consumers’ attention toward products with lower price

4) convince people to have loyalty to special brands

It's inferred from the passage that in poorer countries ---------- ;

1) attracting the clients is the target 2) consumers confront fewer brands
3) price 1s usually not the priority 4) brand loyalty 1s less prevalent
The word "'forge' in paragraph 2 is closest in meaning to ---------- i

1) preserve 2) create 3) display 4) define
Spurious loyalty ---------- :

1) declines the rate of competition among companies

2) 1s to purchase a brand due to situational constraints

3) persuades a company to outperform others

4) makes consumers be committed to buying a special brand

All of the following contribute to form brand loyalty EXCEPT ---------- ;
1) promotion of a product by a famous actor

2) the values a company considers beyond the price alone

3) higher social position in a society

4) the sense of relief and comfort

PASSAGE 2:

Outsourcing is the business practice of hiring a party outside a company to perform
services or create goods that were traditionally performed in-house by the company's
own employees and staff. Outsourcing is a practice usually undertaken by companies
as a cost-cutting measure. As such, it can affect a wide range of jobs, ranging from
customer support to manufacturing to the back office.

Outsourcing can help businesses reduce labor costs significantly. When a company
uses outsourcing, it enlists the help of outside organizations not affiliated with the
company to complete certain tasks. The outside organizations typically set up different
compensation structures with their employees than the outsourcing company, enabling
them to complete the work for less money. This ultimately enables the company that
chose to outsource to lower its labor costs.

In addition to cost savings, companies can employ an outsourcing strategy to better
focus on the core aspects of the business. Outsourcing non-core activities can improve
efficiency and productivity because another entity performs these smaller tasks better
than the firm itself. This strategy may also lead to faster turnaround times, increased
competitiveness within an industry, and the cutting of overall operational costs.

The disadvantages of outsourcing include communication difficulties, security
threats where sensitive data is increasingly at stake, and additional legal duties. On a
broader level, outsourcing may have the potential to disrupt a labor force.
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Outsourcing, according to the passage, is ---------- X

1) a traditional term referring to the practice of hiring a party out of a firm
2) performing services or creating goods in house

3) subcontracting work to another company

4) any work over the basic work hours

The word "affiliated'’ in paragraph 2 can be substituted by ---------- .

1) accepted 2) equipped 3) attached 4) competed
Outsourcing can make companies ---------- y

1) concentrate on the most essential part of their work

2) hire employees with the minimum amount of wages

3) focus on finding other companies not on their own work

4) depend on other entities to perform the costly parts of work

All of the following are problems of outsourcing EXCEPT ---------- %

1) a threat to confidentiality 2) problems with language

3) sharing some risks 4) legal work burdens

Which sentence, according to given information in the passage, is NOT true?
1) The advantages of outsourcing outweigh its disadvantages.

2) Outsourcing leads to a high-skilled labor force.

3) Outsourcing helps a company improve its productivity.

4) Companies use outsourcing to cut labor costs.

PASSAGE 3:

People start small businesses for a variety of reasons, but whatever the particular
motivation, certain characteristics making a small business more likely to succeed.
Business advisers point to the importance of finding a niche. It is difficult for a small
business to compete with the array of products or services a large business can offer.
Instead, the small business that has defined what is unique about the product or service
it provides has a greater chance of success. A small business can offer customers
personalized service and specialized products or knowledge that can be more difficult
to find in a large chain store, for example.

Related to the concept of finding a niche is the importance of maintaining a
competitive edge. To be successful, a business has to look at what its competitors,
whether large or small, are doing and find a way to stay ahead of the game. In addition
to offering a specialized product or service, a business that has more efficient
production or distribution systems, a better location, or a reputation for excellence in
customer service can do well in a competitive market.

Research and planning are vital steps in setting up a small business. It is essential to
determine who the potential customers are and the best way to reach them. It is also
necessary to develop a sound business plan that, among other things, shows how the
business make a profit and projects the cash flow that will help the business stay
afloat.

Naturally, a successful small business starts out with proper financial support. In
addition to the costs of starting the business, there are also the costs of running it until
it starts turning a profit. Typically, a small business takes one to two years to become
profitable. during that time, there are still expenses that have to be met. Rent has to be
paid, employees have to be paid their wages, and supplies have to be bought. If plans
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have not been made for supporting the costs of the business until it brings in a profit,
inevitably 1t will fail.

A small business becomes more successful when it ---------- .
1) strives to find a particular position

2) offers large businesses some services

3) defines a particular motivation for itself

4) produces a large variety of products

More personalized services can ----------

1) reduce the amount of competition in 'the market

2) persuade people to start more small businesses

3) provide knowledge being more difficult to find

4) make a small business over a large one

The word "'sound'’ in paragraph 3 means ---------- ,

1) modern 2) healthy 3) valuable 4) important
The most common reason that small bossinesses fail includes ---------- :
1) a lack of capital or funding

2) retaining an inadequate planning team

3) not supporting its employees and workers

4) not be profitable during the first year of its starting
Which question can be answered by reading this passage?
1) What are the various characteristics of a small business?
2) How can a small business compete in a large market?

3) How to motivate people to start a small business?

4) What makes a small business successful?
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